
 Potenzen berechnen          
Potenzen mit der Basis 2
2² = _______________----(-2)4 = _____________ -  (-2)1= _____________

(-2)5 =  _____________   -(-2)² =  _____________ - 26 =  ______________-

27 = _______________-    20 =  ______________-   (-2)3 =  _____________-

 25 = _______________-  (-2)8 =  ________________ -  210 =  ______________-

Potenzen mit der Basis 3 und 4
3² = _______________----(-3)4 = _____________ -  (-3)1= _____________

(-4)3 =  _____________   -(-3)² =  _____________ -  42 =  ______________-

44 = _______________-    40 =  ______________-   (-3)3 =  _____________-

 43 = ______________-  (-3)3  =  ________________ -     34 =  ______________-

Potenzen mit der Basis 5 und 6
5² = _______________----(-5)3 = _____________ -  (-5)1= _____________

50 =  ______________    -(-5)² =  _____________ -  54 =  ______________-

(-6)3 = _____________-    60 =  ______________-   (-6)2 =  _____________-

63 = _______________-   62  =  __________________ -  61 =  _______________-

Potenzen mit der Basis 7, 8 und 9
7² = _______________----(-7)3 = _____________ -  (-7)1= ______________

70 =  ______________    - 8² =  ______________-    80 =  _______________-

(-8)3 = _____________-   (-8)1=  ______________-  (-9)2 =  _____________-

93 = _______________-   91  =  __________________ -  (-9)3 =  ______________
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